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1. This exam is 25 multiple choice questions. All answers must go on the Scantron
card. Be sure to fully erase any stray marks on the Scantron before completion of
the exam. Note that the Scantron card is “scrambled” and you must carefully mark
the proper line. For example, your answer to Question #1 will not be marked on the
top line of the Scantron; instead, you must locate the line for #1, which is included in
the top ten lines of the Scantron.

2. You may make notations on the exam, but they will not be a factor in your score. No
reference to books or notes is allowed. You are allowed the following during this
exam:

v Pencils
v Erasers
v Calculator and scrap paper, both provided by Walsh College

3. Answer all 25 questions. Be sure your name is on both the Scantron card and the
exam. Do not include your social security number. Provide your signature and
today’s date in the box below.

4. You are allowed 2 hours for this exam. Passing score is 75%.

5. When you have completed the Exam, place the Exam, the scrap paper and the
Scantron in the white envelope. Write your name and date on the white envelope.
Seal the white envelope. Return the gold envelope and the white envelope to the
Proctor.

6. The academic advisor will inform you of your score. You will not be allowed to
review the exam or your Scantron card.

| acknowledge that | have been directed to work individually on this exam.

| certify that | have not referred to notes, books, additional calculators, communication devices, or
received information from other individuals during the exam.

Signature
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Assume the market value per share of stock is above the par value. How would
a 40% (large) stock dividend declared affect the additional paid-in capital and
retained earning amounts reported in the owners’ equity section?

Additional paid-in capital Retained earnings

a) Increase Decrease
b) Increase Increase
C) No change Decrease
d) No change Increase
e) No change No change

Which item would be most likely to result in no change to stockholders’ equity?

a) Sale of Treasury Stock above cost

b) Conversion of Convertible Bonds

C) Employees’ exercising of stock options
d) Expiration of Stock Rights

e) Sale of Common Stock below par

Eddy Corp.'s 2018 income statement showed pretax accounting income of
$750,000. To compute the federal income tax liability, the following 2018 data are
provided:

EPA fine for environmental damage $ 30,000
Depreciation deducted for tax purposes in excess of depreciation
deducted for financial statement purposes 60,000
Estimated federal income tax payments made 150,000
Enacted corporate income tax rate 30%

What amount of current federal income tax liability should be included in Eddy's
December 31, 2018 balance sheet?

a)  $57,000
b)  $66,000
c)  $75,000
d)  $198,000

e)  $48,000



4. When using the “cost” method, the retirement of treasury stock will most likely
result in a debit to Retained Earnings if

a) The purchase price was higher than the original issue price.
b) The par value of the stock was higher than the purchase price.
C) The purchase price was equal to the par value.
d) The original issue price was above par.
e) The retirement eliminated all treasury stock.
5. Which is a typical result of a declaration of a cash dividend but not a declaration

of a stock dividend?

a)
b)
C)
d)
e)

Retained Earnings decreases
Common Stock account increases
Net Income decreases

Liabilities increase

Liabilities decrease

Use the following information to answer the next two questions

Gilley Co. had 200,000 shares of common stock, 20,000 shares of convertible preferred
stock, and $1,000,000 of 10% convertible bonds outstanding during 2017. The preferred
stock is convertible into 40,000 shares of common stock. During 2017, Gilley paid
dividends of $.90 per share on the common stock and $4.90 per share on the preferred
stock. Each $1,000 bond is convertible into 60 shares of common stock. The net
income for 2017 was $600,000 and the income tax rate was 30%.

6. Basic earnings per share for 2017 is (rounded to the nearest cent):
a) $2.21
b) $2.42
C) $2.51
d) $2.70
e) $3.00
7. Diluted earnings per share for 2017 is (rounded to the nearest cent):
a) $2.14
b) $2.23
C) $2.35
d) $2.46

e)

$2.70



10.

11.

Which of these items would be accounted for prospectively?

a) Change from LIFO to FIFO, but not Declining-Balance Depreciation to
Straight-Line Depreciation

b) Change from Declining-Balance Depreciation to Straight-Line
Depreciation, but not LIFO to FIFO

C) Both a Change from LIFO to FIFO and Declining-Balance Depreciation to
Straight-Line Depreciation

d) Neither a Change from LIFO to FIFO nor Declining-Balance Depreciation
to Straight-Line Depreciation

A deferred tax liability arises when an expense item is reported for tax purposes
in a period:

After it is reported Before it is reported
in financial income in financial income

a) Yes Yes
b) Yes No
C) No Yes
d) No No

Which of the following is a temporary difference classified as a revenue or gain
that is taxable before it is recognized in financial income?

a) Subscriptions received in advance

b) Excess of tax depreciation over book depreciation.

C) An installment sale accounted for on the accrual basis for financial
reporting purposes and on the installment (cash) basis for tax purposes

d) Interest received on a municipal obligation

e) Gain from life insurance on corporate executives

Based solely upon the following sets of circumstances indicated below, which set
gives rise to a Capitalized lease for a lessor?

Transfers Ownership Contains Bargain Collectibility of Lease Any Important
by End of Lease? Purchase Option? Payments Assured? Uncertainties?

a) No No Yes No
b) Yes No No Yes
C) Yes No Yes No
d) No Yes Yes Yes

e) Yes No No No



12.

13.

14.

On January 1, 2018, Kinder Co. has the following balances:

Projected benefit obligation $1,800,000
Fair value of plan assets 2,100,000

The settlement rate is 10%. Other data related to the pension plan for 2018 are:

Service cost $180,000
Amortization of unrecognized prior service costs 60,000
Contributions 300,000
Benefits paid 105,000
Actual return on plan assets 237,000

The balance of the projected benefit obligation at December 31, 2018 is:

a)  $2,085,000
b)  $2,385,000
c)  $2,355,000
d)  $2,337,000
e)  $2,112,000

The excess of the fair value of leased property at the inception of the lease over
its cost or carrying amount should be classified by the lessor as:

a) Unearned income from a sales-type lease

b) Unearned income from a direct-financing lease

C) Manufacturer’s or dealer’s profit from a sales-type lease

d) Manufacturer’s or dealer’s profit from a direct-financing lease
e) Earned income from a direct-financing lease

On September 1, 2018, Zelner Company reacquired 10,000 shares of its $5 par
value common stock for $12 per share. Zelner uses the cost method to account
for treasury stock. The journal entry to record the reacquisition of the stock
should debit:

a) Treasury Stock for $120,000

b) Common Stock for $120,000

C) Common Stock for $50,000 and Paid-in Capital in Excess of Par for
$70,000

d) Treasury Stock for $50,000

e) Common Stock for $50,000



15.

16.

17.

In a defined-benefit plan, the process of funding refers to:

a) Determining the projected benefit obligation

b) Determining the accumulated benefit obligation

C) Making the periodic contributions to a funding agency to ensure that funds
are available to meet retirees' claims

d) Determining the amount that might be reported for pension expense

On January 1, 2016, Kinney Corp. signed a five-year noncancelable lease for
certain machinery. The first of five equal annual payments of $20,000 was made
on January 1, 2016. The machinery has an estimated useful life of 7 years and
no salvage value. Kinney uses the straight-line method of depreciation for all of
its fixed assets. Kinney accordingly accounts for this lease transaction as a
capital lease. The minimum lease payments were determined to have a present
value of $83,397 at an effective interest rate of 10%. With respect to this
capitalized lease, for 2017 Kinney should record:

a) Interest expense of $4,974 and depreciation expense of $16,679
b) Interest expense of $4,974 and depreciation expense of $11,914
C) Interest expense of $6,340 and depreciation expense of $11,914
d) Interest expense of $7,174 and depreciation expense of $16,679
e) Interest expense of $6,340 and depreciation expense of $16,679

A company using a perpetual inventory system neglected to record a purchase of
merchandise on account at year end. This merchandise was included the year-
end physical count. How will these errors affect assets, liabilities, and
stockholders' equity at year-end and net income for the year?

Assets Liabilities Stockholders' Equity Net Income
a) No effect Understate Overstate Overstate
b)  No effect Overstate Understate Understate
c) Understate Understate No effect No effect
d) Understate No effect Understate Understate

e) Understate No effect No effect No effect



18. In accounting for a pension plan, the difference between the PBO and the Fair
Value of Plan Assets should be reported as:

a) An offset to the liability for prior service cost

b) Pension asset/liability

C) Other comprehensive income (G/L)

d) Accumulated other comprehensive income (PSC)

Use the following information to answer the next two questions

Washington Inc. is a calendar-year corporation. Its financial statements for the years
ended 12/31/18 and 12/31/19 contained the following errors:

2018 2019
Ending inventory $15,000 understatement  $24,000 understatement
Depreciation expense 6,000 understatement 12,000 understatement

19. Assume that the 2018 errors were not corrected and that no errors occurred in
2017. By what amount will 2018 income before income taxes be overstated or
understated?

a) $21,000 overstatement
b) $9,000 overstatement

C) $21,000 understatement
d) $9,000 understatement
e) $6,000 overstatement

20.  Assume that no correcting entries were made at 12/31/18 or 12/31/19. Ignoring
income taxes, by how much will Retained Earnings at 12/31/19 be overstated or
understated?

a) $24,000 overstatement
b) $21,000 overstatement
C) $36,000 understatement
d) $6,000 understatement
e) $30,000 understatement



21.

22.

Neasha Corporation reported the following results for its first three years of
operation:

2016 income (before income taxes) $ 100,000
2017 loss (before income taxes) (900,000)
2018 income (before income taxes) 1,000,000

There were no permanent or temporary differences during these three years.
Assume a corporate tax rate of 40% for 2016 and 2017, and 30% for 2018.

Assuming that Neasha elects to use the carryback provision, what income (loss)
is reported in 20177 (Assume that any deferred tax asset recognized is more
likely than not to be realized.)

a)  $(900,000)
b) $ -0-

c)  $(600,000)
d)  $(550,000)
e)  $(620,000)

Limeway Company issues $7,000,000, 6%, 5-year bonds dated January 1, 2017
on January 1, 2017. The bonds pay interest semiannually on June 30 and
December 31. The bonds are issued to yield 5%. What are the proceeds from the
bond issue?

2.5% 3.0% 5.0% 6.0%
Present value of a single sum for | .88385 | .86261 | .78353| .74726
5 periods
Present value of a single sum for | .78120 | .74409 | .61391| .55839
10 periods
Present value of an annuity for 5 | 4.64583 | 4.57971 | 4.32948 | 4.21236
periods
Present value of an annuity for | 8.75206 | 8.53020 | 7.72173 | 7.36009
10 periods

a)  $6,370,743
b)  $7,000,000
c)  $7,303,092
d)  $7,304,231
e)  $7,306,333




23.

24.

25.

On January 1, 2017, Foley Co. sold 12% bonds with a face value of $300,000.
The bonds mature in five years, and interest is paid semiannually on June 30 and
December 31. The bonds were sold for $323,100 to yield 10%. Using the
effective-interest method of amortization, interest expense for 2017 is
approximately:

a) $38,772
b)  $30,000
c) $36,000
d  $32,218
e)  $32,310

Stone, Inc. issued bonds with a maturity amount of $200,000 and a maturity ten
years from date of issue. If the bonds were issued at a discount, this indicates
that:

a) The effective yield or market rate of interest exceeded the stated (nominal)
rate

b) The nominal rate of interest exceeded the market rate

C) The market and nominal rates coincided

d) No necessary relationship exists between the two rates

When the interest payment dates of a bond are July 1 and January 1, and a bond
issue is sold on June 1, the amount of cash received by the issuer will be:

a) Increased by accrued interest from January 1 to June 1
b) Increased by accrued interest from June 1 to July 1
C) Decreased by accrued interest from January 1 to June 1

d) Decreased by accrued interest from June 1 to July 1
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